Ratio to ATLAS

N
O
= 10°
©
3,
pd
—
10?
10
1
107t
1072

0.5

7000 GeV pp.

Soft QCD

I T I T | T I I T I |—
= Momentum fraction z(track jets) 3
W -
| A _
- g .

R
=5 CIRRR-E =
- " N Y -
— TN e A ]
— 1 : T..J \7:\ 7 S A | —
B g "';A N = T . N
|‘_‘| ( ,‘ B H o .E :
= R Am e A =
— B ATLAS : o N AT 1 -
-0 Pythia 6.428 346 . _ -
- Pythia 6.428 347 AA m i
- Pythia 6.428 348 g
= Pythia 6.428 349 B3
~  —A— Pythia 6.428 370 _
E | | | | | 4 | ' | | | |E
— T T T T | T v T T I |:
= 1 T -
— x : |_—_| —
- R
HE: i
B b -
1 " 1 " |

1
Charged particle z

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


